Skills Practice: Calculating Arc Length and Circumference

FORMULAS OF A CIRCLE:

“Perimeter” (Circumference) of a Circle: 2z2r or nd

2rrl
Arc Length: ?b:a— , Where @ is the central angle (or intercepted arc measure)

Use the diagram to find the indicated measure. Leave answers in term of pi.

1. Find the circumference. 2. Find the circumference.

C=2T(D m c ed

3. Find the radius. Find the indicated measure.
a. The exact radius of a circle with circumference 36 meters
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b. The exact diameter of a circle with circumference 29 feet
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4. Find the length of AB.
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5. In © D shown below, ZADC = ZBDC. Find the indicated measure
a) mipe 3,0 - Y40 =320 _ |,0°
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d) LengthofrBC O+40O= 200" QL: Z’n'(q{ZOO/%ba - -Li’—oﬂ‘m
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f) Lengthof ACB = ,QL= Zﬂ(q)(gzo/s(,,o):%q/n’w

6. Find the indicated measure.
a. The radius of circle Q b. Clrcumference of © Q and Radlus of ®Q
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7. Find the perimeter of thg_ region. Round to the nearest hundredth.
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8. Birthday Cake A birthday cake is sliced into 8 equal pieces. The arc length of one piece of cake is 6.28 inches
as shown. Find the diameter of the cake.

.23 =2Trr*[‘f}3(‘o>
50.24=21r

2m 2T
=

d iametee = [on

2D >l
J
T
10. The arc length of ’07’ =10m inches; 11. The arc length ofé—f’ =22cm,;
radius = [1oT = 21r 199) diameter = (to the tenth)
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